Trig Graphs Worksheet
State the equations for the following graphs.
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Amplitude = Period = Phase Shift =

Equation (1) = (in terms of the cosine function)

L)

-125m -7 -0°35m -05m -025m 0E5m 0 51 075w ™

Amplitude = Period = Phase Shift =

Equation (2) = (in terms of the sine function)
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Amplitude=____ Period=_ Phase Shift=_
Equation (3) = (in terms of the sine function)
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0.67 0.33
Amplitude=____ Period=___ Phase Shift=__
Equation (4) = (in terms of the cosine function)
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Amplitude = Period = Phase Shift =

Equation (5) = (in terms of the cosine function)
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Amplitude = Period = Phase Shift =

Equation (6) = (in terms of the sine function)

Find more worksheets at meta-calculator.com.



http://meta-calculator.com/

Graph one complete perod of the given sine ar cosine curve. [Check yvour answer with your
graphing caleulator!)

fixi=-2+sinx

Amplitude = Perind = Fhase Shift =

[2 A
{x1=2sin —x——
f, I'._.:" tl Fl

Amplitude = Period = Phase Shift =

i Y
fixy="5sin| 27x +% 1

Amplitude = Perind = Phase Shift=

j't.\'?=%um2[ r+§j

Amplitude = Period = Phase Shift =
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ANSWERS:

(1} y=10cos+x

"
(2} v=2sin r—%]

(3y v=I10sin

f T . il
3.!'——] ar 1'=JU:-=||‘|3[.T——'
' 2) - 4)

i

i4) v==2cosiiTr) or v=2cos ."!-.:'I'II

x-3)
(3} v=3cos —IJ )
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N e 3
(&) _1'=3:~'|nE-I.'r+E:I or _'r=3-!cm|?.t+ﬂ'
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